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/NJ MTMJ =YFQNXbX YSI E[JHPRbaNLPJNX IJV ?UJ]NFQ[JVP]JYLJ YSI BYQPFSNWNJVRFXJVNFQNJS RFHMXJS INJ GJNIJS 1NVRJS WHMTS WJMV KVeM eGJV INJ 2VJS]JS /JYXWHMQFSIW

YSI 0YVTUFW MNSFYW GJPFSSX% -JWTSIJVW IYVHM INJ ,YKSFMRJ ZTS <FSL >JUFVFXYVUKQFWXJVS YSI BYQPFSNWNJVRFXJVNFQNJS NS IJS BJVXVNJG# [YVIJ JNSJ TUXNRFQJ

0VLbS]YSL ]Y IJS CJVP]JYLJS YSI 8FWHMNSJS LJKYSIJS% <MNQNU >JNSMJNRJV JVdKKSJXJ JNSJ [JNXJVJ 1NQNFQJ NS 3FRGYVL YSI ?FQ]GYVL KeV IJS BJVXVNJG WJNSJV

BJVGVFYHMWRFXJVNFQNJS% '+*( [YVIJ INJ 1JVXNLYSL YR IJS -JVJNHM .308;@06 JV[JNXJVX% /NJ 3JVWXJQQYSL HMJRNWHMJV <VTIYPXJ KeV INJ >JNKJSNSIYWXVNJ YSI IFW

3FSI[JVP KeQQXJ JVKTQLVJNHM JNSJ QFSLObMVNLJ 7eHPJ YSI [YVIJ IYVHM INJ [JQX[JNXJS 3FSIJQWZJVGNSIYSLJS IJW ASXJVSJMRJSW JNS WJMV WXFVP J\UFSINJVJSIJV

1NVRJSGJVJNHM% 4R EJNXFQXJV IJV 2QTGFQNWNJVYSL KYWNTSNJVXJS NR 5FMVJ '++& INJ IJYXWHMJ <,92$49/A?@>40? YSI >04930480> 2RG3 " .T% 62%
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/NJ 2QTGFQNWNJVYSL IJV 8bVPXJ MFX IJS 9FRJS >04930480> RNXXQJV[JNQJ ]Y JNSJR 8FVPJSSFRJS [JVIJS QFWWJS% CJQX[JNXJ 3FSIJQWPTSXFPXJ YSI 7NJKJVZJVXVbLJ RNX

RJMVJVJS <VTIYPXNTSWWXbXXJS LFVFSXNJVJS YSWJVJS 6YSIJS MJYXJ JNSJ -JQNJKJVYSL RNX =YFQNXbXWUVTIYPXJS FYK MdHMWXJR 9NZJFY% ,QW 3JVWXJQQJV ZTS <VTIYPXJS

8,/0 49 20>8,9D YSI @`B$LJUVeKXJS 4RUTVXUVTIYPXJS QNJKJVS [NV MJYXJ JNSJ FYWLJ[bMQXJ <FQJXXJ ZTS ?UJ]NFQUVTIYPXJS KeV IJS 1FHMMFSIJQ YSI INJ 4SIYWXVNJ%
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/NJ 2JWHMNHMXJ IJV 1NVRF >JNSMJNRJV NWX JSL ZJVGYSIJS RNX IJV 2VeSIYSL IJW @VFINXNTSWYSXJVSJMRJSW <,92# IFW FR &'%&+% '+'+ NS 3FRGYVL

FQW HMJRNWHMJ 1FGVNP YSXJV IJV 7JNXYSL ZTS 3JVVS 1VNX] 3JWWJQGJNS LJLVeSIJX [YVIJ% 1VNX] 3JWWJQGJNS eGJVVFWHMXJ WHMTS GFQI INJ 1FHM[JQX RNX

IJR JVWXJS WJQGWXZYQPFSNWNJVJSIJS >JNKJS$ YSI ?HMQFYHMVJUFVFXYVRFXJVNFQ# IFW JV YSXJV IJR 9FRJS <^92 WJMV JVKTQLVJNHM FYK IJS 8FVPX

GVFHMXJ%

4S 8eSHMJS LVeSIJXJ IJV 8JHMFSNPJV 8JNWXJV <MNQNU >JNSMJNRJV &'%&*%'+() JNSJ 1FGVNPFXNTS ZTS XJHMSNWHMJS 2JVbXJS YSI CJVP]JYLJS KeV INJ

>JNKJSNSIYWXVNJ% /JV 9FHMKVFLJ YSI IJS 6YSIJS[eSWHMJS JSXWUVJHMJSI# UFWWXJ WNHM INJ 1NVRF >JNSMJNRJV IJS 0VKTVIJVSNWWJS IJW 8FVPXJW FS

YSI GTX SJGJS IJS WJQGWX LJKJVXNLXJS CJVP]JYLJS SYS FYHM WHMTS GFQI 8FWHMNSJS YSI BJVGVFYHMWRFXJVNFQ FSIJVJV 3JVWXJQQJV RNX FS% ,YW IJV

?UJ]NFQ[JVPWXFXX [YVIJ JNS 1FHMMFSIJQ RNX JNLJSJV 1JVXNLYSL# 6YSIJSWJVZNHJ YSI 1FHMGJVFXYSL%


